oA 287 10%

o =
=}

ot

1.

17
20

A

1
2=
®2

[ArR Yo

2 Y

©7



o= AU

RS

ol
o8

IR

olJ

Nfo
o7

—

_1_0

o] g1}

7%]

@ A






Afole]

4L
10

1,
4

O 2 FolA 4

4.

® 4.2

® 4.65 3 4.01 @ 4.82

@D 4.12



ol
™
ol
o8

olg

of
Bo
T

o

o
B°
__,A_O
T

ol
ol

7F?

<|n
NIl
)

N
‘o

olo

® A= syt

@ A
® A

21

=]

;'g



& 5019 ol ol
MUt @82 2

aﬂaﬂ%QAEHAOH

g
o shae] 7k 2 %, o= 2
2 7he o] ke Z 4
A7

@® 13], 0.18km

o1
e —

® w9, 2 1km
® =AM,

— km
20

@ 13],0.15km

@ A, 0.18 km



30

[T

— | 00

— | <

— |



